100

65 35

by FL—IL(AL)

NOT10030
Py TL—ILE (T (AL)

30

1100~1200

FEH

NOTUS9712

PBFRAYE S E R (SUS)

M4 % 20

IHEF(AL)

22 | 1h2 60 A

$2225
XA (AL)

ES6030N

XM (T SEBEEAVE)

PS60THF

T#(AL)

S4430
THETEEE(AL)

DP44CHA—B

INAURTH XA (P-SUS)

o

W=1200LLF W=1200LLF

W=1200LLF

100~270
,l)

30

O0——

30

1100~ 1200

H=

FSRTYYRE X (SUS)

44 \

M4 x 19
HBAREYEURLCATE(SUS)

740

30

40~80

80
65

T
%

M4 x 40

KR

®55x30
INAURTH R 4L (P-SUS)

M4 x 13
RIGEE

40LL E

40L) E

109

BL—4& 7 h—(Bl&)

150 X 70 X t9.0

M4 x 13

XHE(AL)
ES6030N

FSRTYIA(SUS)

ryFL—IL(AL)

M4 x

THEZEEE (AL

19

NOT10030
TH(AL)

DP44CH

A—B

S4430

40~80

XAEHEM (T SEBEEAVE)

XAEAL)

PSG60THF

ES6030N

NI/

B

IURFryJ(#iiE)
NOT10030ECPB

FSRTYIX(SUS)

I
fL__ l-er=Ed
K T
|
|
T
|
RA_RI
if ak—
| ﬁ
'—(4—\17

M4 x 13

P=@115LLF

— IHEF(AL)

INF LT HEAN—(AL)

§2225

30~57.5[30~57.5

P=@115LLF

DH64MKA

30~575

30~575

P

ﬁ;}%zzsuf:

THIVEEvy T (iR

FS44ECN

W=1200LLF

W=1200LL"F

80~250

20~30

FEH

——
_
_—
_—
_—
_—

EELIEET]

T2 mamiF4y (HER)
/N)La=——H 150% “FBS—SS—30

A W SEiHRETE
NOT1003075yhL—ILIMEFEA4T

w%l

ER B

Kilsty -l

g

F =

ETIEH

g R

S=1/4,1/25

SIE

% B :2006.12.07

HMER: 2010.6.22

QOO PDOOPDOLOD

#-033



